Totka T(—4,1) eipse b>? +a?y? = a?b? udaljenaje /2 od njezinog lijevog
zariSta. Odredi jednadzbu elipse.

T(-4,1)
d(T,F1) = V2
Fi(—e0)
{T}€E = b?-16+a%-1=a%’
d(T,F1) = V2
V(4+e2+(1-02=v2 /?
(—44+e?+1=2
(~4+e?=1 [V
1) —-4+e=-1
e=3
e =a’ — b?
9=2a’—b?
a?=9+b’
16b% + 9 + b? = (9 + b?)b?
170" +9—- 9" —b* =0
b*—8p*—9=0
@ZZSiv@ﬁjﬁ§:81Vﬂﬁ:8ilo
v 2 2 2
b? = ——— = —1 (nijerjeSenje)
8410
2
a?=9+9=18
a.”§+§=1/m
X2 +2y> =18
2) —4d4+4+e=1
e=5
& = a? — b?
25=a’—b?
a’ =25+
16b? + 25 + b? = (25 + b?)b?
17b? 4+ 25 — 25p% — b* = 0
b*+8b% - 25=0

b? = b5 = 9
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b? = —4 — V41 (nijerjeSenje)
b?=h3 = -4+ V41
a2=25-4+V4l=21+V4
X2 e
2t vl Carva T






